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3. HEFEHET (R15H)

(1) E=E (E&GEE) W= 39 ke
(2)7vh—RIL b+
DA% N= 4 X
@94 X - ik =M 10 i
@1 ALY OESIFEE (FRIC K SEHETE) A= 78 mm?2= 78 x107° m?
@OBBEREEZTIGEEDIRY EZTERBIOT > h—HRIL FOBARE Nt= 2 V.
(BFPTELIVEBELEFTOSS Heg= 310 mm= 0310 m
(4)BET 2AADDH=RIL RV L= 330 mm= 0330 m
(B)REIFTH2AMMBH=RIL FFDLASHIBRE LT TOIERE Lg= 155 mm(Lg=L/2)= 0.155 m
4. BREEHE (REO/MIALUT2/HBEZMEREALTER)
(1) ZEtAKERE HRETRIRERE Ks= 1.0 Kh=Z-Ks= 1.0
iR Z= 10
(2)EREtRRERE Kv=Kh/2= 0.5
(3)EREtAKFEHER Fh=Kh-W-9.8= 382.2 N
(4)ZEtHSEEN Fv=Kv-W-9.8= 191.1 N
. Fh-Hg—(W-9.8-Fv)-Lg
(8)7 v h—HRIL b D5IRA Rb= e = 134.6 N
(6)7>Hh—RIL FDEARA Q=Fh/N= 95.6 N
(7)7oh—HRIL MzET ZIENE
IV (SS400)DEFBSIRIEA
@558 NE 0 =Rb/A= 17 MPa <ft=176MPa
RILE (SSA00)DEFB R AMIEN fs
QEAWIENE T=Q/A= 12 MPa  <fs=101MPa
QBlEREBFAKERBICRIT55E fts'=1.4ft-1.6 T = 2445 MPa
=12 L. fts' =ftd & Efts=fts’, fts' >ftD & Efts=ftTHIDT fts= 176.0 MPa
o= 1.7 MPa < fts= 176.0 MPa
(8)7vh—mhRIL rOBEIE
D7 v h—RIL FOBIE = HERIHEERTVN—
@aviy)—tOES = 120 mm= 0.120 m
@RI FOIEARE = 80 mm= 0.080 m
@FBEIHREE Ta= 7600 N > Rb= 134.6
LUEDBREER LY T oH—RIL FI+HHE28EEZEHT 5,
*RL FOBBENESLVT U H—HRIL FOIIREESRFER, [RERERHERE - BIIEE2014FEIR] 12k 5.
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